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The final exam dates/times are posted. The scheduler will be posted by
tomorrewcnight.

e A practice problem set is posted.

e The final exam is comprehensive, but the latter material is weighted more

Lapl nsforms will be on the final exam, and I will provide a
e Assignment 8 is the last homework assignment.

e Take care of your online quizzes.

e This is the last online class meeting.



One more example with repeated eigenvalues:
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Solution Process: .
e W)

1. Get the general solution wuy(¢) to u' () = A u(?).

pre‘o\e'"“ |

2. Get any "particular solution" u,(?) to u'(?) =4 u(t) +f(?)

3. The general solution is u (t) = uu(?) + u,(?).



Example: Find the general solution to
x'=x-3y—¢ (X‘)
y'==2x+2y+e” U= &

(Use an analog of undetermined coefficients to find the particular
solution.)
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Example: Give the solution to " 19
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Example: Give the solution to
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Solutions to Selected Final Exam Review Problems

G-y & &  Solue x'= &% where
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9. Make sure you can use@eaviside functionato rewrite a piecewise defined
function, and also make sure you can take the Laplace transform of a piecewise
defined function.
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x'=-y+e’
23. Solve | y'=x+1
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